
21-5

M
IS

C
E

LL
A

N
E

O
U

S
 F

A
S

T
E

N
E

R
S

NUTS

Part 
Number Size Note

42200925 3/8”-16 NYLON LOCK
42200933 1/2”-13 ZINC
42200934 5/8”-11 NYLON LOCK GRADE 8
42200937 5/16”-18 GALVANIZED

42200961 3/4”-10 NYLON LOCK

I.D

O.D

WASHERS

Part 
Number I.D O.D Note

42201004 .406” .812” ZINC

42201013 .438” 1” GALVANIZED

42201016 1.38” 2.13” STEEL

42201020 1.63” 2.50”
ZINC

42201021 .53” 1.06”

42201022 .375” .75” NEOPRENE STEEL 
BACK

MISCELLANEOUS FASTENERS

BOLT KITS

Part 
Number Description Qty 

Per Kit

KIT0411 BOLT KIT, ELEVATOR 1/4”-20X1-1/4” WITH KEEPER NUT

100

KIT0412 BOLT KIT, ELEVATOR 1/4”-20X1-1/2” WITH KEEPER NUT

KIT0420 BOLT KIT, ELEVATOR 1/4”-20X2” WITH KEEPER NUT 

KIT0430 BOLT KIT, ELEVATOR 1/4”-20X3” WITH KEEPER NUT 

KIT0612-100 BOLT KIT, ELEVATOR 3/8”-16X1-1/2” WITH KEEPER NUT 

KIT0620-100 BOLT KIT, ELEVATOR 3/8”-16X2” WITH KEEPER NUT 

KITTX06 BOLT KIT, BOTTOM RAIL TORX 3/8”-16X1-1/4” WABASH 
STYLE WITH NUTS AND WASHERS

8
CMBK BOLT KIT, CROSSMEMBER UNIVERSAL 3/8”-16X1-1/4” WITH 

NUTS AND WASHERS

MFBK BOLT KIT, MUDFLAP UNIVERSAL	
3/8”-16X1-1/4” WITH NUTS AND WASHERS 4

SIRLGBK BOLT KIT, UNIVERSAL LANDING GEAR 5/8”-11 X1-1/2” WITH 
NUTS AND WASHERS 10

BOLTS

Part Number Size Length Head Note

42203821
5/16”-18

1/2” ROUND SQUARE NECK, S/S

42200533 1-1/4”

HEX

GR5, FULL THREAD

42200510

3/8”-16

1” GR5, FULL THREAD

42200603
1-1/4”

CORROFLO

42203813 ROUND GR5, SQUARE NECK

42200575 1-1/2”

HEX

GR5, FULL THREAD

42200514 2” GRADE 5

42206317 3” GRADE 5

42200703 5” ROUND RIB NECK, S/S

42200402 7”

HEX

S/S

42200562
1/2”-13

1-1/2” GR5, FULL THREAD

42200530 6” GRADE 5

42200805
5/8”-11

1-1/2” GR8, FULL THREAD

42200551 1-3/4” GR5, FULL THREAD

42200815 3/4”-10 2” GR8, FULL THREAD

43800028 3/4”-16 3” PHOS/OIL

42200527 1”-12 2-1/4” GRADE 5, NF

NUTSERTS AND TEE NUTS

Part 
Number Description

41404 NUTSERT, 3/8”-16	
CADMIUM PLATED

42203003 NUTSERT, 3/8”-16 YELLOW ZINK 
42203007 NUTSERT, 3/8”-16 CLOSED END

42202901 NUT, TEE FOUR PRONG	
1/4”-20 .350” BARREL

42202902 NUT, TEE FOUR PRONG	
3/8”-16 .500 BARREL

42202916 NUT, TEE RIB NECK .25”-20 .313” 
BARREL ENCAPSULATED WHITE

COTTER PINS

Part Number Size Length

42206002 1/8” 1”

41084MEPH 1/4”
2”

41085MEPH 3/8”

FASTENERS


